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Lymphoid progenitor cell can
differentiate into

(A) T-cell

(B) B-cell

(C) Natural Killer-cell
(D) All of the above

How many classes are there in
immunoglobulins ?

(A) 2
(B) 7
€) 5
(D) 6

Severe autoimmunity in newborn
infants occurs by mutation in
which of the following ?

(A) FOXP, gene

(B) Heavy chain

(C) B,-microglobulin

(D) Endogencus protein

MHC Class — I molecule in
human protein HLA-A, consists
of which two sub-units ?

(A) aheavy chain made up of three
domains (o, o, and o) and B,
microglobulin chain

(B) a heavy chain made up of
two domains (o, and o,) and
B, microglobulin chain

(C) a heavy chain made up
of one domain (o} and B,
microglobulin chain

(D) a heavy chain made up of
o, and o, three domains

1924-A 3

5.

Investigators used viruses as a
research tool as

(A} to study the mechanism of
DNA replication and gene
expression

(B) a means to introduce foreign
genes into human cells for the
treatment of human disease by
gene therapy

(C} play role in the war against
insect, pests and bacterial
pathogens

(D} all of the above

Hamilton’s rule with reference to
an allele’s behaviour is

(A) B>rC
B) r>BC
(C) rC=>B
(D) rB>C

Alterations to the genome that do
not change the DNA sequence is
called

(A) Mutation

(B) Epigenetic modification
(C) Silent mutation

(D) Non-sense mutation

Possession of a structure despite
differences in function inherited

with or without modification from
their common ancestors is called

(A) Homology

(B) Homoplasy
(C) Homonymy
(D) Homozygous

[ P.T.O;
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11.

12.

13.

Pangaea was formed in which
time period ?

(A} Late Paleozoic

(B} Late proterozoic

(C) Early coenozoic

(D) Early proterozoic

Which of the following represents
a set of animals showing
discontinuous distribution ?

(A) Tapirs, Lion, Whales

(B) Kangroo, Gilamonster,
crocodiles

(C) Camels, Peacock, Horses .

(D) Lung fishes, Monotremes and
Camels

mt-DNA (mitochondrial DNA)
codes for rRNA, tRNA and
proteins respectively as in
mamimals

(A) 2,22, 13
(B) 5, 25, 28
©) 1,12, 31
(D) 4,8, 15

Individual suffering from
cry-of-cat syndrome produce a
characteristic mewing cat like
cry during childhood occur by a
deletion occurs in

(A} Chromosome 22

(B) Chromosome 5

(C) Both (A)-and (B)

(D) None of these

During chromosomal aberration,
one chromosome missing (2n — 1)
condition called as

(A) Nullisomic

(B} Double monosomic
(C) Monosomic

(D) Trisomic

1924-A
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16.

By applications in crop

improvement, many ornamentals

plants are auto tetraploids, they

generally have

(A) Larger flowers and shorter
flowering duration than
diploids

(B) Larger flowers and longer
flowering duration than
diploids

(C) Smaller flowers and shorter
flowering duration than
diploids

(D} Smaller flowers and longer
flowering duration than diploids

The phenomenon of translocation

was first discovered in 1923 by

Bridges in Drosophila through

genetic analysis of a shift of

segment of chromosome

(A) From chromosome II into
chromosome III

(B) This translocation produced
phenotypic effect

(C) This translocation produced
lethality (recessive) effect

(D) All of the above

How does the GroEL/GroES

complex assist in proper protein

folding in cells ?

(A) By transferring the protein to
ribosome for re-translation

(B) By enclosing the misfolded
protein in a cavity, allowing it
to refold correctly in isolation

(C) By tagging the protein with
ubiquitin for degradation

(D) By extending the protein into
its primary structure

[ P.T.O.
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17. Which of the following statement
is true about protein sequencing
using endopeptidase digestion ?
(A) Trypsin cleaves peptide bonds
at the C-Terminal side of
positively charged residue like
Arginine and Lysine

(B) Chymotrypsin specifically
cleaves at small neutral
residues like Ala, Gly and Ser

(C) Pepsin is highly specific and
cleaves only at a single amino
acid residue

(D) Elastase cleaves peptide bonds
only at proline residues

18. Which of the following coenzyme
correctly matches a coenzyme, its
function and the reason it may not
require dietary intake in mammals ?
(A) Lipoate-Transfer of electrons
e and acyl groups— synthesized
in the body

(B) Biocytin — Transfer amino
groups — Obtained from
pyridoxine

(C) Tetrahydrofolate — Transfer
H® ions - Synthesized from
Thiamine

(D) Co-enzyme A - Transfers
Carbon dioxide (CO,) —derived

from folate

1924-A

19. In the Lineweaver-burk plot of
an enzyme following Michaelis-
Menten Kinetics, which of the
following statement is correct
regarding the interpretation of the
graph ?

(A) The Y-intercept of the plot equals
the Michaelis constant k

(B) The slope of the plot is equal

tozﬂﬂ

(C) The X-intercept of the plot gives
- 1/K_,, indicating substrate
affini

finity 1 .

D) A plot of 77 versus —
( ] pO VO [S]

produces a hyperbolic curve

20. Match the following
polysaccharides (Column - A) and

{éex; with their correct characteristics
oEo] (Column — B).
(Column - A) (Column - B)
1. Chitin P. Structural
polysaccharide in
algae

2. Dextran Q. Structural
component in
Crustacean
exoskeleton

3. Agarose R. Hormopolysaccharide
with o(l— 6) and
a(l— 3) branches
in bacteria

4. Hyaluronate S. Heteropolysaccharide

forming
extracellular
matrix

A) 1-Q,2-R,3-P,4-5S

B) 1-R,2-Q,3-5,4-P

(C) 1-P,2-8,3-Q,4-R

(D) 1-S,2-P,3-R,4-Q

7 [ P.T.O.
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21.

22.

23.

24.

25.

A mating system in which both
males and females have several
partners without forming a
pair-bonds is called

(A) Promiscuity
(B) Polyandry

(C) Polygyny

(D} Proterogynous

When neither the donor nor the
recipient benefits from a social
interaction, but instead both pay
cost is called

(A) Neutralism

(B) Amensalism

(C) Spite

(D) Competition

When associating in group makes
it less likely for any one individual
to be depredated, is called

(A) Camouflage
(B) Mimicry

(C) Distraction
(D) Dilution effect

The total measure of an individual’s
genetic contribution to the next
generation is known as

(A) Direct fitness

(B) Indirect fitness

(C) Absolute fitness

(D) Inclusive fitness

The ability to distinguish between
close genetic kin and non-kin
with reference to cooperative
behaviours among relatives is
known as

(A) Kin selection

(B} Kin recognition

(C} Mate selection -

(D) Sexual selection

1924-A

26.

27.

28.

29.

Which one of the following
factor affect the morphogenetic
development in amphibians ?

(A) Sex hormones

(B) Embryonic induction
(C) Competence

(D) All of the above

Who proposed the theory of
epigenesis ?

(A) Karl Ernst Von Baer

(B) Muller Haeckel

(C) Caspar F. Wolff

(D) Bonnet

What do you mean by apoptosis ?
(A)
(B)

It is programmed cell death

Play a role in preventing
cancer

Eliminates undesirable cells
All of the above

(€)
(D)

Which statement is true in
regards to BMP protein ?

(A) It is a transforming growth
factor -

It is associated with
programmed cell death

(B)

(C) It induces apoptosis in
interdigital space

(D) All of the above

Which of the following statement
is correct in respect to aging ?

(A) It is progressive loss of tissues
(B) It is result of oxidative stress
(C) Itis the result of increased RNS
(D) All of the above

[ P.T.O.
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31. Matchthefollowingrepairproteins/ 33.
enzymes of Column — I with the
type of the repair in Column — II.
. Choose the correct option :
: Column -I  Column - 1II
: a. Mut s i. Nucleotide a
1 excision repair
- b. DNA ii. Mismatch b
¢ glycosylase  repair
c. Uur A iii. Photo- c
. reactivation
v d. DNA iv. Base excision d
- photolyase repair
' (A) a—i b-ii c-iii d-iv FEgE
: B) a-ii b-iv c-i d-iii .
(C) a—iv b-iii c-ii d-i )
; (D) a—-iif b-i c~-iv d-ii
32. Column - I represent the phases 34.
of meiosis and Column - II
represent the events.
Choose the correct pair as given
below.
Column -1  Column - II
a. Leptotene  i. Separation
of duplicated
homologous
chromosomes
b. Zygotene  ii. Disassembly of
and synaptonemal
- pachytene complex
c. Anaphase [ iii. Assembly of
synaptonemal
complex 35.
d. Diplotene iv. Pairing of
and homologous
diakinesis chromosomes
(A) a—iv b-iii ec-1 d-ii
B) a-iii b-ii c-iv d-i
(C) a—-ii b-iv c—-iii d-i
(D} a-i b-i c-iv d-ii
1924-A

Column — I represent protein/ ..
DNA elements and Column - [I
represent their functions:
Choose the correct pair.

Column - I Column - 1I

. Mcm 2-7 i. Histone
complex modification
. Bromodomain ii. Virus like
retrotransposons
. Ty elements iii. Separation of
DNA strands
. Telomere iv. Hetero
chromatin
(A) a—i b-ii c-iii d-iv
B) a—ii b-iii c-iv d-i
(C) a—iii b-i c—ii d-iv
D) a-iv b-iii c—-i d-ii

Which of the following
statements is not correct about
RNA polymerase II mediated
transcription in eukaryotes ?

(A) TFID contains TAFs and TBP

(B) TFIIH acts as an ATPase and
protein kinase
(C) The heptapeptide sequence
at CTD domain of polymerase
is phosphorylated during
initiation of transcription
Distortion of DNA takes place
by binding of TBP at the major
groove of DNA

(D)

What is the role of Band 3
protein in human erythrocytes ?

(A) Ca** ATPase pump inhibitor

(B) Catalyzes the exchange of the
anions

(C) ATP dependent proton pump
inducer

(D) Ca** channel inducer

[ P.T.O.
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Father of zoology Aristotle
classified the animals in which of
his book ?

(A) Systema naturae
(B) Historia animalium
(C) New systematics
(D) Karyotaxonomy

Taxonomists are using the

chromosome painting method to

(A) Compare the entire genome of
- one with another species

Study the nucleus and band

on chromosomes

Determine the epigenetic inter

relationship

Study the morphological

character

©)

(D)

Who is known as father of modern
taxonomy and who gave a clear
concept of the word species ?

(A) Mayer, Aristotle

(B) Aristotle, John Ray

(C) Carolus Linnaeus, John Ray
(D) J. Huxley, Carolus Linnaeus

The very popular Indian bird,
commonly known Gauraiya
according to binomial
nomenclature is named as

(A) Passer Leo

(B) Passer familaris
(C) Passer domesticus
(D) None of these

According to the rule of
nomenclature suffix — IDAE and
suffix — INAE is respectively used
for

(A) Genus and species

(B) Species and genus

(C) Family and subfamily

(D) Subfamily and family

1924-A
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Which disease is caused by .
the deficiency of the enzyme ™
glucocerebrosidase ?

(A) Tay-Sachs disease
(B) Fabry’s diseasé

(C) Gaucher’s 'disease
(D) Niemann-Pick disease

PFK-1 controls glycolysis by
(A) Finishing the Pathway using
F-1, 6 BP as fuel

Reversibly converting Pyruvate
to F-6-P ’

(B)

(C) Irreversibly committing glucose
using ATP, sensing energy
levels in cells

(D) Activating only when oxygen is

absent

A person is eating enough
vitamin B, in their diet but still
develops symptoms of Vit. B,,
deficiency. What is the most
likely reason ?

(A) His body doesn’t make
enough RBC

He is not eating enough iron
His intestine isn’t producing
enough intrinsic factor
glycoprotein to absorb the
Vit.B,,

Due to hyperacidity of stomach,
Vit. B, get destroyed

(B)
(€)

(D)

Which of the following is not a
ketone body ?

(A) Acetoacetate

(B) Acetone

(C) D-B-Hydroxybutyrate
(D) Acetyl-Co-A

[ PA.0.
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What is the main purpose of a
Ramchandran plot in protein
structure analysis ?

(A) To display the Torsion angles
of amino acids side chain in
protein

(B} To identify favorable
H-bonding pattern in
o-helices and B-sheets

(C) To map the sterically allowed
¢(Phi) and y(Psi) angles of the
polypeptide backbone

(D) To show the flexibility of
peptide bond in response to
enzymatic cleavage

Rh antigen also called Rh factor
was first discovered in the blood
of the

(A) Rhinoceros
(B) Rhamphosuchus
(C) Rhesus monkey
(D) Rhino viper

Blood enters from right auricle
to right ventricle through which
valve ?

(A) Bicuspid
(B) Tricuspid
(C) Aortic

(D) Pulmonic

This is a broad medium partition
between the pleurae of the lungs
that extends from the sternum
to the vertebral column in the
thoracic cavity

(A) Hilum

(B} Pleura

(C) Mediastinum

(D) Thoracic cage

1924-A
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The percentage of total blood volume
occupied by RBC is called the ~

(A) Hemolysis
(B) Hematocrit
(C) Hemogenesis
(D) Hematin

In internal and external

respiration, O, and CO, diffuse

from

(A) Areas of higher partial
pressure to areas of lower
partial pressures

(B) Areas of lower partial
pressures to areas of higher
partial pressures

(C) Both areas have equal partial
pressure

(D) None of the above

Honey is believed to be highly
nutritious. 200 gm of honey
provides the same nourishment as

1. 330 gm meat

ii. 11.5 litre of milk
iii. 1.6 kg cream
iv. 0.8 kg of spinach

Choose the correct option :
(A) Onlyiand iv

(B) Onlyii and iv

(C) Onlyi, ii and iv

(D) Only i, ii and iit

The caterpillars of silkworm are
subject to a severe hereditary
disease known as pebrine. It is
caused by which factor ?

(A) Tachina {flies

(B) Bacteria

(C) Protozoan parasite (nosema
bombycis)

(D) Fungal

[ P.T.O.
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Kala-Azar or dumdum fever is
caused by which factor ?

(A) Leishmania donovani
(B) Entamoeba

{C) Taenia

(D) Trypanosoma

Madhya Pradesh comes in which
biogeographic region (zone) of
India ?

(A) Western Ghats

(B) Gangetic plain

(C) Deccan peninsula

(D) The semi arid zone

What is the zoological name of
State animal of Madhya Pradesh ?

(A) Rucervus duvaucelii

(B) Tetracerus quadricornis
(C) Javan Rhinoceros

(D) Rusa unicolor

Follicular cells of Graffian follicles
are connected by which one of the
following ?

{A) Desmosomes

(B) Plasmodesmata

(C) Gap junction

(D) Tight junction

Which one of the following
structure is developed by the
outer layer of somites in the
chick embryo ?

(A) Sclerotome
(B) Myotome

(C) Dermatome
(D) Nephrotome

1924-A
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What will be happen if a cleaving
egg is treated with puromycin ?
(A) Cell will die

(B) Replication will stop

(C) Cells shrink

(D) Inhibit RNA dependent protein
synthesis

Which technique of fate mapping
are proposed by Spratt ?

(A) Carbon particles technique
(B) Vital staining method

(C} Radioactive labeling

(D} None of the above

Which one of the following

events takes place during

metamorphosis of frog ?

(A) Liver increases carbohydrates

turnover

Endocrinal functions of

pancreas starts

(C) Tail and gills reduce by
autolysis

(D) All of the above

(B)

A technology ‘Root Zone-Process’
for control of water pollution was
developed by

- (A) Eureka Forbes

(B) Thermax
(C) Aquapure
(D) Aquaguard

The World Summit on Sustainable
Development (WSSD) was held in

{A) Rio de-Janeiro (1992)

(B) Kyoto; Japan (1997)

(C) Johannesburg, South Africa
(2002)

(D) Sydney, Australia (2006)

[ P.T.O.
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The greatest industrial disaster
leading to serious air pollution
took place in Bhopal on

(A) 2™ December 1984
B) 5% December 1984

(B)

(C) 2" September 1982
(D) 2" December 1982

i

[=]34=]

A vulture conservation Breeding
Centre was established in the
year 2001 at which location ?

(A) Abohar, Punjab

(B) Pinjore, Haryana

(C) Bikaner, Rajasthan

(D) Dehradun, Uttarakhand

The Silent Valley National Park is
located in

(A) Palakkad, Kerala
(B) Himachal Pradesh

(C) Arunachal Pradesh 71.

(D) Ooty, Tamil Nadu

Biramous limbs are found to
occur in

(A) Myriapoda
(B) Chelicerata
(C) Insecta

(D} Crustacea

Animals are hypothesised to arise
from a protist ancestor shared with

(A) Alveolata

(B) Kinetoplastida
(C} Choanoflagellata
(D) Ciliata

Nauplius larva of crustaceans
lacks

(A) Antennule
(B) Antenna
(C) Mandible
(D) Maxilla

1924-A 19
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In adult male spiders, the

(A) Pedipalp is modified into chela

(B) Pedipalp is modified as
copulatory organs

(C) Pedipalp develops as poisonous
spine

(D) Pedipalp secretes silk

In Echinodermata, water vascular
system is derived from the
(A) Hydrocoel on the left side of

- larva
(B) Hydrocoel on the right side of
larva
(C) Axocoel on the right side of
larva

(D) Axocoel on the left side of larva

The book “On the Origin of Species
by Means of Natural Selection”
was published in the year

(A) 1809

(B) 1863

(C) 1859

(D) 1838

During which period did
mammals first appeared ?
(A} Jurassic

(B) Triassic

{C) Cretaceous

(D) Palaeocene

Coacervates as proposed by

Al oparin are

(A} Early multicellular organisms

(B) Protocell structures capable of
metabolism

(C) A type of ancient fossil

(D) Complex DNA molecules

[ P.T.O.
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Ancestor of humans that first
stood erect and walked nearly
straight on hind legs

(A) Java man

(B) Australopithecus

(C} Peking man

(D) Cro-magnon man
Which gas was not used in

experiments conducted by
Stanley Miller and H. Urey for

synthesis of organic compounds ?  80.

(A} CO,
(B) CH,
(© H,
(D) NH,

G-protein coupled receptor
family includes a large number of

receptors that are responsible for 81.

(A) Smell
(B) Sight
(C) Taste
(D) All of the above

In vertebrate eye, which second
messenger is responsible for

converting the visual signals 82,

received as light to nerve
impulses ?

(A) cGMP

(B) cAMP

(C) NGF

(D) EGF

i
[RIEEE

Which of the following serve as the
source of diacylglycerol and IP,
and is also the starting point of a
distinct second messenger pathway
that play a key role in regulating
cell growth and survival ?

(A) PI

(B) PIP,

(C) PIP,

(D) AKt

1924-A 21
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Focal adhesions develop from a
small cluster of integrins termed
focal complexes, by the sequential
recruitment of

(A) Talin

(B) Vinculin

(C} a-actinin

(D) All of the above

Basal laminae are formed from
which type of network forming
collagen ?

(A) Type XXVII
(B) Type XX
(C) Type XXVI

(D) TypelV

A network of tiny blood capillaries
located at the beginning of a
nephron is called as

(A) Renal calyees

(B) Renal pyramid
(C) Bowman’s capsule
(D) Glomerulus

The absorption of fructose by
intestinal mucosa is achieved by
which method ?

(A) Co-transport mechanism
(B) Simple diffusion

(C) Facilitated diffusion

(D) Active transport

Aquatic mammals have oblique

diaphragm for what ?

(A) Makes thoracic cavity large
for more space to lungs for
expansion

(B) Regulates body temperature

(C) Supports the spine during
swimming

(D) Aids in digestion

[ P.T.O.
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Hypersecretion of cortisol by the

adrenal cortex produces
(A) Addison’s disease
(B) Cushing’s syndrome
(C) Diabetes insipidus

(D} Grave disease

Which of these is an accessory
reproductive gland found in male

humans ?

(A) Inguinal gland
(B) Prostate gland
(C) Lacrimal gland
(D) Gastric gland

Which component of plasma
membrane is involved in binding

of bacterial cholera toxin ?
(A) Glycolipid

(B) Glycoprotein

(C) Phospholipid

(D) All of the above

Which of the following pathways
does not occur generally in

animal cells ?

(A) Kreb cycle

(B) Glycolysis

(C) Glyoxylate cycle

(D) Beta oxidation pathway

1924-A
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Which of the following bacterial
DNA polymerase has both

3' > 5' exonuclease and 5 —» 3’
exonuclease activities ?

(A) DNA polymerase I
(B) DNA polymerase II
(C) DNA polymerase III
(D) DNA polymerase IV

During bacterial protein synthesis,
which translation factors are
required for release of mRNA from
ribosomes and dissociation of
ribosomal subunits ?

(A) RRF and EF-G

(B) EF-Tu and EF-Ts
(C} RF-1 and RF-2

(D) IF-2 along with GTP

Catabolite repression prevents
wasteful transcription of energy
producing enzymes in bacteria.
Presence of adequate amount
of which metabolite induces
catabolite repression ?

(A) Sucrose

(B) Glucose

(C) Lactose

(D) Galactose

Madreporite is not found in
(A) Antedon

(B) Pentaceros

(C) Asterias

(D) Echinus

[ P.T.O.
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{eeTEed U W &

(A) hET Fr Sl wifseeen §

(B) TTEgl % S A

(C) & < sAfrent wifdreniet |

(D) wham = e 3

STl # CThe B1d 8 |

(A) TEWERT § IR TN 9T ™ gagi

B) daicied § a@ S a9t @
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(C) TR TR IR T e He e

(D) TSRE A IR M e WEA
LEE)

FrafaRas # @ #F w aafFa feaile
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(A) ear

(B) TesEq

(C) g

(D) @dem

Fefafga d s R o w e R ¢

(B) I19HTEl S & @ fema §

(C) 3: 1 =me @am (FHifefirr) arquma
T B R

(D} SWiwd weft
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97.

98.

99‘

T ATHE H SR T =g,
T spfa % forg < o wamor (e ity
T FleR &) & I WWGG T8 wwgg
ST SFHN: % W fog MY % B, i
ﬁwmwsﬁqﬁasqaﬂmﬁw% ?

(A) 1:2:2:4:1:2:1:2:1
B) 1:2:2:4:2:1:1:2:1
C) 1:2:1:4:1:2:1:2:1
D) 1:2:2:4:1:2:2:1:1

Hirefiferd St (Four O clock) #1 R,
! o | I T Al SR U fe
FRFE 7
(A) 19 (RR) : 2 @t (Rr) ¢
1 9% (r1)
(B) 29 (RR) : 1 7wt (Rr) :
1 T%E (r1)
(C} 1< (RR) : 2 qomsit (RR) :
1 ¢ (RR)
(D) 2@ (Rr) : 1 TSt (Rr)
1 §%2 (Rr)

HIgsHIEEd g < SRR, HH-9 /B,

|1 gt Fide T aat g o IgEr 7

(A) HIESHT, FHIFET R & HRY[ 0 &,
fewid & wget s §, arerfa YA
% GRH

(B) WishaT & €N TRql w3aeive, shad
qreft Hfes U g & HaH (SR)
&d & afs wriiea faagra &
STTER FEeft (AT winfes w
1Y T (JEH) BIEHe SHC 8

(C) STcieh SIS, THIT TSR T TROTH
3T 2

(D) SWiFq Tt
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Rhabdites are found in

(A) Epidermal cells of earthworm
(B) Gut of Hydra

(C) Epidermal cells of Dugesia
(D) Gastrodermis of Anemone

Amphids in invertebrates are

(A} Thermoreceptors found in
Ectoprocta

(B) Baroreceptors found in
Balanoglossus

(C) Chemoreceptors found in star
fish

(D) Chemoreceptors found in
Ascaris

Which of the following is an
example of selective deposit
feeder ?

(A) Terebella

(=]
(B) Glycera R
[mlgk.p

(C) Nereis
(D) Sabella

Which of the following is a fresh
water sponge ?

(A) Xestospongia muta
(B) Ephydatia fluviatilis
(C) Geodia barretti

(D) Cliona Californiana

According to Mendelian

principles, the law of segregation,

in F, generation

(A) Character of dominant parent
is expressed

(B) Character of recessive parent
is expressed

(C) 3: 1 phenotypic ratio is
obtained

(D) All of the above

1924-A
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97. For
independent

25

explanation of
assortment, the
two varieties (round yellow and
wrinkled green) used as parents
in dihybrid cross with WWGG
and wwgg genotypes respectively.
What is the genotypic ratio found
in F, generation ?

genetic

A) 1:2:2:4:1:2:1:2:1
B) 1:2:2:4:2:1:1:2:1
(C) 1:2:1:4:1:2:1:2:1
D) 1:2:2:4:1:2:2:1:1

Which one is the genotypic ratio
of F, generation of mirabilis jalapa
(Four O’ clock) flower colour ?
(A) 1 Red (RR): 2 Pink (Rr) :
1 White (rr)
(B) 2 Red (RR) : 1 Pink (R1) :
1 White (rr)
(C) 1Red (RR): 2 Pink (RR) :
1 White (RR}
(D) 2Red (Rr): 1Pink (Rr): 1 White
(Rr)

Which is right, according to
Chiasmatype theory, also referred
to as one plane theory ?

(A) Chiasmata are produced
due to crossing over; occurs
before diplotene, i.e. during
pachytene

(B) Throughout the entire bivalent,
only sister chromatids are
associated with each other
whereas as per the classical
theory nonsister chromatids
become associated to produce
Chiasmata

(C) Each Chiasma is the
consequence of a crossing
over

(D) All of the above
[ P.T.O.
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e AHERER B, (Arafafory sramar) 104,

#, Wit I GFIEST Afell SHE % GqF
& swht SeH (ddfa) d faear ? | fafyy
Tl STed} it St WIeT Sk % watd § ek
ST BT ?

(A) &

(B) &g

(C) fafam @ (afies)

(D) Swlier oot

ITHET TG TR B BH-F1 g qrr
e g 7

(A) Rrdifears e
(B) 3Meiferr® el
(C) wifers

(D) ugifer®

I % Sig A Wi Tfe s
FIRERST F BR g ¥ I qaT T,
FHFAT B

(A)

(B) 3HSicH A6 g™

(C) rTeed

(D) ufesieht :

Trm it e o e % R Wiew
e § AR aur htnifEa (geg
UG o BHT) BT § 7 |
(A) VII (@rae)

(B) V (df=ref)

(C) X (ewe)

(D) XI (=mee)

105.

106.

107.

1924-A . 26

108.

FraE | ¥ e G sufee B §
(A) wHEeN, RiRE, IR, A
(B) feftdm, wimgetw, @t

R G R I EE

(C) Ufedw, Wftem, wirgels, W

(D) A, wHTER, fefcrem, Aftm

nfeTsH 1 WG Jectiel TIETe H18 &
forg ST & YEaT § 7

(A) BREF TeeH

(B) BREA dHM

(C) ®REN 7w

(D) feraett =1 BREH

YAV H TG TTeGHaA HEeTl o

(A) WiwiAfEes

(B) HIhIcifeRet

(C) wimImifE

(D) SiIqH THegHa

Tt % Yo % fopm Wt ® o i Tgg TR
W g ?

(A) i SR

(B) ThE UepEtst

(C) R argeasd

- (D) shades S

HAIYT § 3T T TS & 7
(A) weT g1 1 Fmior
(B) s a1 1 fmin
(C) 3= =1 fam
(D) et T =t iy
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In plastid genetics, in Mirabilis 104.

Jalapa, the phenotype of the leaf will
be the same as that of the female
parent in its progeny, how will the
progeny of a female parent with
variegated leaves be obtained ?

(A) Green

(B) White

(C) Variegated

(D) All of the above

105.

Which fluid is found in the
epithelial membranous labyrinth ?

(A) Cystolymph
(B) Otolymph
(C) Perilymph
(D) Endolymph

106.

The exocrine portion of pancreas
made up of small clusters of
glandular epithelial cells is
known as

(A) Acini

(B) Islet of Langerhans

(C} Colloids 107.

(D) Alveoli -

Injury to which cranial nerve
causes difficulty in swallowing
and tachycardia (increased heart
beats) ?

(A) VII (Seventh)
(B) V {Fifth)

(C) X (Tenth)
(D) XI (Eleven)

1924-A 27

108.

The following enzymes are

present in pancreatic juice

(A) Amylase, Trypsinogen,
Peptidase, Renin

' (B) Trypsin, Amylase, Lipase,

Carboxypeptidase

(C) Peptidase, Pepsin, Amylase,
Renin

(D) Maltase, Amylase, Trypsinogen,
Pepsin

The medulla oblongata of the
brain connects with the spinal
cord through which foramen ?

(A) Foramen rotundum
(B) Foramen lacerum
(C) Foramen magnum
(D) Foramen of winslow

Limb regeneration in salamander
is called as

(A) Morphollactic
(B) Morphollaxis
(C) Epimorphosis
(D) Compensatory regeneration

Which part of the chick embryo
consisted of blood islands ?

{(A) Area opaca

(B) Area pellucida
(C) Area vitelline
(D) Primitive streak

What do you mean by cavitation ?
{(A) Formation of pulp cavity

(B) Formation of amniotic cavity
(C) Development of archentron
(D} Formation of pleural cavity

[P.T.O.
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FadafraSgd smueEm g ?
(A) uiem

(B) wredn

(C) TR
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(C) IH=FA
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114.

115.

116.

117.

118.

[=]
ik

I Sl o g w1 999 it e
I o W YIS IR S’ &

(A) iy, S

(B) i, A

(C) gause®, ST

(D) TrehtseEd, e

Toree Wi ol ““Oewil ¥ I #)
e’ & ¥ ° qionfye fea

(A) TR (1942)

(B) =g (1832)

(C) eI (1859)

(D) T Teee (1806)

FARA IRER & g NN g g
SR w1 B g 8 | frad afRem
IS U Faeret 1 famior e € foroes
e U Gar el fog arn s g 7
(A) 8
(B) 6
) 7
(D) 5

=1 & | ®H-11 90% AT FEK 5
Tfufirferer sk 6t Afemaf=y
(FR) § ?

(A) TR

(B) =it

(C) wphitmrs

(D) ferem=

St ofre wvft e ARER % @
20% TwE! § witiferd g 8, REd-50%
Hie T 25% o Hiidamar aftfaa 2,
3 TR § grEiRE 2

(A) ras H

(B) ras K

(C) ras N

(D) IwiEa ot
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Which of the following animal
has placenta ?

(A) Peripatus

(B) Salpa

(C) Macropus

(D) All of the above

What is called the ability of
embryonic tissue to respond
to thyroid hormone during
metamorphosis ?

(A) Competence

(B) Primary induction
(C) Imprinting

(D) Determination

Which of the following is commonly
nicknamed as the “Grand old man

of the intestine” ?
(Aj Ceratium
(B) Giardia

(C) Volvox

(D) Diffugia

By which parasite filariasis or
elephantiasis occurs ?

(A) Wuchereria bancrofti
(B) Ancylostoma duodenale
(C) Ascaris lumbricoides
(D) Enterobius

Which have cellular grade

and tissue organ type grade of
organization respectively ?

(A) Sponges and coelentrates

(B) Coelentrates and flatworm
(C) Sponges and flatworm

(D) Coelentrates and Arthropoda

1924-A

114.

115.

117.

118.

Choose the group of animals
which have systems level of
organization.

(A) Thenea, velamen

(B) Clathrina, cestum

(C) Suberites, beroe

(D) Enchytraeus, owenia

Who defined species as a
“population of interbreeding
individuals” ?

{A) Mayer (1942)

(B) Cuvier (1832)

(C) Darwin (1859)

(D) Michel Adanson (1806}

Gap junctions are constructed
by trans membrane proteins of
the connexin family. How many
connexin assemble to form a
cylinder with an open aqueous
pore in its center ?

{A) 8

(B) 6

(C) 7

(D) 5

Which of the following is
approximately 90% human
cancers are malignancies of
epithelial cells ?

(A) Sarcomas

(B) Carcinomas

(C) Leukemias

(D) Lymphomas

Those genes are involved in
approximately 20% cases of all
human malignancies, including
about 50% of colon and 25%

of lung carcinomas are closely
related to

(A) ras H

(B) ras K

(C) ras N

(D) All of the above

[ P.T.O.
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126.
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Apoptosis appears to be involved  124.

in which neurodegenerative
disease ?

(A) Alzheimer’s disease

(B) Parkinson’s disease

(C) Huntington’s disease
(D) All of the above

Blood contains a group of soluble
proteins that binds to pathogens,

triggering their destruction
{A) Complement
(B) Defensins i-%%
(C) Toll-like receptor [=4=]
(D) Natural killer cells

125.

Species that anchor many
species with itself in the food
chain and food pyramid are
called

(A) Endemic species

(B) Endangered species

(C) Keystone species

(D) Vulnerable species

Areas that are rich in species
diversity are known as 126.

(A) Biosphere Reserves
(B) National Parks

(C) Hotspots

(D) Wildlife Sanctuaries

The unit of living organisms
interacting with their non-living
environment in an orderly self-
sufficient manner is known as
(A} Ecotone

(B} Ecological system

(C) Territory

(D} Niche

1924-A 31

The Biogeochemical cycleare heavily

influenced by this ecosystem

(A) Semi-arid and non-seasonal
nature of desert ecosystems

(B) Arid and seasonal nature of
desert ecosystems

(C) Tropical and seasonal nature
of desert ecosystems

(D) Subtropical and non-seasonal

nature of desert ecosystems

The National River Conservation
Plan (NRCP) was launched in

which year ?

(A) 1985
(B) 1995
(C) 1991
(D) 1981

TheProtein Disulfide Isomerase (PDI)
which catalyses the oxidation
of free sulthydril (SH) groups on
cysteine to form disulfide (S - S)
bonds is mainly located in which
of the following organelles ?

(A) Cytoplasrh

(B) Endoplasmic reticulum

(C} Nucleus
(D) Golgi apparatus

[ P.T.O.
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131.

fy=fefaa 4 @S- Stam Wi %
~ 10 8% U7 — 35 &% W Uit wfdm
DNA 31359 & ?

(A) GGTTAG a1 TTGGGA

(B) GGGCCC @ TTTAAA

(C) TATAAT @ TTGACA

(D) AAACCC @1 CCCTGG

Hifer freelt faga o weHRET Weg
forgt fean ¢

(A) . =, =

(B) . et

(C) €t |

(D) 3. ST 3R TH. Ursd

frafafaa 4 @ ®F-a1 ™ ATP =ifem
U I g 7

(A) P-WehR T 49

(B) ABC Y@K I Ziadi

(C) V-J&R 1 99

(D) Swad a4t

HIREH F BH-E RIE g Hq
fafaya & aem ear 2 ¢

(A) TREHAT TervTeH

(B) &g fowre

(C) (A) W (B)&Hi

(D) Iwfwa o | &S =

BRI W EfR[A N AFR g e
Tpa a7

(A) 1910

(B) 1810 bR 1L
(C) 2000
(D) 1938
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I SRR § e

S &5 S Sl T B

(A) 1000 SR

(B) 4000 IR

(C) 1500 &R

(D) 2500 sK

QIR DNA Gehdies o T & & SH-41
T I AT 6 9 H R AT B 7
(A) B- ToiFeiEes

(B) It

(C) iR f&aw

(D) SAMERA

ife #, ety a1 s fwed 3
(A) TS AU I HeATehA ()
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(B) w&H

(C) sHa
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127. Which of the following are 132. In classification of mutations,
conserved DNA sequences under the dominance relationship,
present at - 10 region and — 35 mutant all.eles _Il'lday b.e
region of bacterial promoter ? (A) Sometimes dominant

(dominant mutation)
(4) GGTTAG and TTGGGA (B) Most often recessive (recessive
(B) GGGCCC and TTTAAA mutation)
(C) TATAAT and TTGACA (C) (Occ%slioréally codorr;i_nant
eg. blood group antigens
(D) AAACCC and CCCTGG co-dominant mutation)

128. Who has given the term (D) All of the above
plasmalemma in cell membrane 133. In oocytes of amphibians, the
theory ? nucleolus organizer region is
(A) J. Q. Plowe amplified a'bout
(C) C.Cramer (B) 4000 times

' (C) 1500 times
(D) E. Cramer and F. Grendel (D) 2500 times

129. Which of the following is a class 134. In Recombinant DNA technology
of an ATP driven pump ? which one is used as selectable
(A) P-type pumps marker ? .

(B) ABC type transporters (A) B- galactomdase
v (B) Luciferase

(C) V-type pumps (C) Octopine synthase
(D) All of the above (D) Kanamycin

130. Which type of cell division 135. In eugenics, genetic problems of
contributes to the diversification eutelegenic or germinal choice
of gametes ? arc
(A)" Mitosis (A) g:lisurement of the desirable
(B) Meiosis (B) Geneticcomponent (heritability)
(C) Both (A} and (B) of the trait
(D) None of the above (C) The effect of segregation and

! recombination
131. Systematic studies on mutations (D) All of the above
ducted by M i
v:;as fgxllouc ec by Morgan wi[a] 136. Kleptocnidism is found to occur in
(A) R (A) Ctenophora
(B) 1810 (=14 [a] (B) Aves
(C) 2000 (C) Insects
(D) 1938 (D) Placozoa

1924-A 33 [P.T.O.
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Which type of radula bears large
number of marginal teeth ?

(A) Rhipidoglossate
(B) Docoglossate
(C) Taenioglossate
(D) Rachiglossate

Cyphonautes larva is

(A) Non-ciliated larva of .
phoronida

(B) Ciliated, triangular larva of
Bryozoa

(C) Ciliated, club shaped larva of

Entoprocta

(D) Non-cilated larva of
ctenophora

Endodermally derived Malpighian
tubules are found in )
(A) Hexapoda

(B) Insecta

(C) Chelicerata

(D) Myriapoda

Mehlis’s glands are

(A) Unicellular in Fasciola
(B) Multicellular in Fasciola
(C) Multicellular in Taenia
(D) Multicellular in Asterias

In which of the following DNA

structure is Hoogsteen base pairing

most likely to be observed ?

(A) Standard B-DNA duplex under
physiological condition

(B) Triplex DNA and DNA bound
to certain specific protein

(C} Denatured single stranded
DNA

(D) RNA Hairpin loops dur1ng
transcription

35

142,

143.

144.

om

EHE

The Neurological symptoms
observed in Lesch-Nyhan
syndrome, such as self mutation
and mental retardation are
primarily due to which reason ?
(A) Deficiency of adenosine
. deaminase affecting dATP
~ levels
(B} Excessive uric acid production
due to increased purine
catabolism
(C) Defective hypoxanthin Guanine
- phosphoribosyl transferase
causing PRPP Accumulation
(D) Deficiency of ribonucleotide
" reductase affecting DNA
synthesis

Which enzyme class is primarily
involved in the conversion of
Pyruvate and Oxaloacetate into
their respective amino acids,
alanine and aspartate (aspartic
acid} ?

(A) Carboxylase

(B) Reductase

(C) Transaminase

(D) Synthetases

Which of the following statements
correctly describes a distinctive
feature of Z-DNA compared to
B-DNA ?

(A) Z-DNA has base pairs that
projected into the major groove
like A-DNA
Z-DNA has a right handed
helical structure like B-DNA

(C) Z-DNA contains a deep minor
groove and Basepairs that flip
180° compared to B-DNA

(D) Z-DNAis favored by Alternating
. A-T sequence in the DNA
strand
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What important insight does the

Levinthal Paradox provide about

proteins folding ?

(A) Protein folds by chance and
rarely reach a stable form

(B) Protein do not fold at all unless
helped by enzymes
(C) Protein folding must follow

specific pathways instead of
random searching

(D) The faster a protein folds, the
more stable it becomes

Population Ecology is the study of

(A) Individuals of same species,
where the processes such as
aggregation, interdependency
between the community and
factors governing the processes
are highlighted

Individuals of different species,
where the processes such as
aggregation, interdependency
between the individuals and
factors governing the processes
are highlighted

Individuals of same species,
where the processes such as
aggregation, interdependency
between the individuals and
factors governing the processes
are highlighted

Individuals of different genus,
where the processes such as
aggregation, interdependency
between the individuals and
factors governing the processes
are highlighted

(D)

147.

148.

]
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When the pre-reproductive and
reproductive age groups become
more or less equal in size and the
post reproductive group remains
the smallest, then these result in

(A) Bell shaped structure and
stable population

(B) Bell shaped structure and
declining population

(C) Urn shaped structure and
stable population

(D) Urn shaped structure and

declining population

Who proposed the term “Biotic
potential” to designate maximum
reproductive power ?

(A) Verhulst (1838)
(B) Graham (1952)
(C) Chapman (1928}
(D) Harper (1969)

The term density-dependence
with reference to population
dynamics was coined by

(A) L. R. Clark (1964)

(B) P. F. Verhulst (1838)

(C) H. S. Smith (1935)

(D) Aurther and Wilson (1967)

Find the odd one out with respect
to insitu conservation.

(A) Biosphere reserves
(B) National parks

(C} Biodiversity Hot-spots
(D) Zoological parks
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